RSz
FHBE (EAQZ4) RIH RIGHT PNEUMATIC

4LZ 5
DR %
4L110-06  4L210-06  4L210-08  4L310-08  4L310-10
TENE 725, (3840 p MMl DEBEE)
TEENTS TV Freami
BEO& @ PT1/8 PT1/4 PT3/8
T — 12.0mm?* 14.0mm’* 16.0mm?* 25.0mm? 30.0mm?
= : BREEH (Cv=0.67) | (Cv=0.78) | (Cv=0.89) | (Cv=1.39) | (Cv=1.67)
e e AO_fu
V= | % BB @ r=s
\ @8, " BRRNEE 0~0.8MPa(0~114psi)
y - gii ® [RBME 1.5MPa(215psi)
: - TERE -20~70°C
| g ABNE CE
@ BBEIFRENPT. GFIHRE;
Q@ UWBIBESE, PEATBIL, BEEEMRISO VG322 FRAM,
o5 Y% O X mET S
A B 4L 21008 []
RPS
e R FERE
0 REHFHE 4L AO_hIShiRg . PTF
R, 4L110-06 T. NPTSH
o O IR G. GF
S o5/ — 1. 10053
0.4 : 2. 20055 BEEOE
0.3 3: 300547 & R [EEOE
R B NER "
@ 02 100551 [06: 1/8
0. N R ;
Z o0 >N N Y [ \ — = hoosy) 28 1/8
S0 300 600 900 1200 10. W& 8:: xi
/ﬁ% (L/min) e
30075 [ 7
A, 4L210-08
0.7~—F—— N
= O SMERFR 4%
S 0.5 e
0 o —— 22
) SR v |
R =l
%o \
- AR E
# 0 or=Z 5
0 400 800 1200 1600 gl B % o |
& (L/min) | © o P
< 3 oo |
MgE. 4L310-10 o | Ol r |QB
0.7 =T ad it | e S
@ 0.6 == = < 6 | ] dn
= 05 S o [1 o L@ ol 2
0.4 == ] O E
EansSas i
Eﬁ 0.1 :\ i
0 [= [=
© 0 400 800 1200 1600 20002400 ?ﬁ\ﬂﬁ ;HE‘;HOOB ?'6(231006 ?'6(231008 11”2‘?15008 41“2‘?15?10
7 (L/min) AB 58.8 55.8 65.8 81 81
AC 70 10 10 10 10
o HEpst B 18 22 22 2] 27
UL C 27 35 35 40 0
D 25 25 25 25 25
2 3 4 5 6 7 89101112 13 E M12x0.75 |M14x1.0 |[M14x1.0 |[M16x1.0 |M16x1.0
% K 3.3 13 43 4.3 4.3
KA 14 20 20 24 24
o KB 22 22.5 225 28.5 28.5
Nl KC 19 23.5 23.5 275 275
.._,,,‘_Q_L.; L Y 3% 3.3 43 43
1{1{“; LA 30 38 38 50 50
I v O ) LB 13 17 17 20 20
_ _ _ LC 14 13.5 13.5 15.5 15.5
% Sl B Sl B Hif P PT1/8 PT1/8 PT1/8 PT1/4 PT1/4
1| BRRE] 6 |H= 1 & PA 16 8 21 22 24
2 | EE 7 [IENR& [ 12 | BRRS PB 3 0 3 0 4
EHES:] 8 | WERE 13 |58 PC 21 23.5 22 295 28.5
4 | BRIy EHEEES PD 29 325 325 40.5 40.5
5 |05 10 | T\BERY Q PT1/8 PT1/8 PT1/4 PT1/4 PT3/8
QA 28 36 36 45 45
QB 2 0 0 0 0
Qac B 14.5 14.5 18 18




